
Subject: Re: How to solve this problem?
Posted by Ken Knapp on Tue, 15 Apr 2003 14:12:28 GMT
View Forum Message <> Reply to Message

tomson wrote:
>  
>  for i=0,n_elements(y)-1 do begin
>     .......
>  endfor

It looks like it sets  i to an integer, whereas it should be a long for
such a large number, so try:

for i=0l,n_elements(y)-1 do begin
   .......
endfor

[that problem got me a while back and I panicked at first too]
Hope this helps.
-Ken

-- 
<><     <><     <><     <><    <><    <><    <><    <>< 
Kenneth Knapp                   CIRA Visiting Scientist
NOAA/NESDIS/ORA                      Ken.Knapp@noaa.gov
E/RA1, RM 711C, WWBG             Phone:301-763-8053x195
5200 Auth Rd.                          Fax:301-763-8108
Camp Springs, MD 20746-4304
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